aining blank pages.

compulsorily draw diagonal cross lines on the rem

Important Note : I. On completing your answers,

50, will be treated as malpractice.

appeal to evaluator and /or equations written eg, 42+8

2. Any revealing of identification,
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Max. Marks: 100

a. Find the equlvalent resistance Rab for mgﬁ;lt in Fig. Q1 (a) and usea@; fo ﬁnd 1. (06 Marks)

b. Determine powerisup] p 1ed by the dependent soufce of Fig. Q1 (b), using nodal analysis.
£ (06 Marks)

(08 Marks)

" (06 Marks)

(06 Marks)




18EC32
- c. Compute V1, Vz n the circuit of Plg Q2 (c) usmg nodal analySIS. (08 Marks)

T (06 Marks)
b U,Sing Norton’s thezoré (06 Marks)
c. (08 Marks)
a.

b. Cornpute ihe vélue of R that resﬁll;s in maximum power transfer to it in F ig. Q4 (b). Find the
maximum péwer & (06 Marks)

" Fig. Q4 (b)
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c. State Reciprocity theorem. Find Vy and verify Reciprocity theorem for circuit in Fig. Q4 (c).

(08 Marks)
1;‘\’??‘ .
.. Fig. Q4 (c)
a. In the network shown in Fig. Q5 (a) the s;gltc ] K is opened at t = 0. S@lve for the values of
dv d2V ; o~
V, Fy and att=0". (10 Marks)
g, Q5 (a)

b. In the network shown I reached with the switch K open. At
t =0 switch K is ¢losed. Solve for the values of 11 , !;Iz, Ve, (illt (gt att=0" (10 Marks)

a. f\-é(a) Kis changed’“ﬁ ﬁ‘l pos1t10n ato lﬁ_{t} £ 0, Solve for i

2; '

d (10 Marks)

dt*

CMRITL IBER TARY
BANGALORE - 560 037

I ..Fig. Q6 (a)
*'155 1osed at t = 0 with zero capacitor voltage anc

(0) ==

(10 Marks)




1
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n1att=0and att=>500 us,
“in both intervals. Use Laplace

7 a. Inthe circuit given in the Fig. Q7 (a) switch is closed on po
switch is moved to position 2. Obtain the equation of cu Té

transforms. (10 Marks)
. Fig. Q7 (a)
b, Determine the Laplace transfom) yof the periodic sawt" th waveform, as shown in
Fig. Q7 (b). (10 Marks)
8 a g se, of umt height and w1dth T is applied to the 01rcu1t in the Fig. Q8 (a) att =
(10 Marks)
b. Determm the Laplace tr ansfofmﬂof waveform g%eﬁ (16 Marks)

#u’,/, v

9 a With respect to series resonant circuit, show that resomant frequency is equal to the

geometrlc meamof two half power frequencies. (08 Marks)

b. A series resonafm dircuit includes 1 pF capacitor, resistance of 16 € and an inductance of L
henry. If the baﬁdw1dth is 500 rad/sec, determine (1) ®, (1) Q (1) L.

(06 Marks)
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c. Find the value of L for which the circuit resonates at a frequency of 1000 rad/sec for the
circuit in the Fig. Q9 (c). (06 Marks)

Fig. Q9 (¢)

10 a. Derive Z -parameters in terms of hybrld parameters. -~y (08 Marks)

b. Determine the Z-parameters of the network shown in Fig. Q10 (b) (06 Marks)

& S -
\ g (;w\N()mORE 560(37
‘Fig. Q10 (b)

¢. Forthe network shown in Fig. Q10 (c), find the Y parameters. (06 Marks)
D“,‘ﬂ' 29 g,

Fig. Q10 (¢)

* % % % ok
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